

On the Modified q -Euler Numbers and Polynomials with Weak Weight 0

JIN-WOO PARK

Department of Mathematics Education, Sehan University, YoungAm-gun, Chunnam, 526-702, Republic of Korea
e-mail : a0417001@knu.ac.kr

SEOG-HOON RIM, SUNG-SOO PYO AND JONGKYUM KWON*

Department of Mathematics Education, Kyungpook National University, Taegu 702-701, Republic of Korea
e-mail : shrim@knu.ac.kr and ssopyo@knu.ac.kr and mathkjk26@hanmail.net

ABSTRACT. In this paper, we construct new q -extension of Euler polynomials with weight 0. These modified q -Euler polynomials are useful to study various identities of Carlitz's q -Bernoulli numbers.

1. Introduction

Throughout this paper \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will respectively denote the ring of p -adic integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p . Let ν_p be the normalized exponential valuation of \mathbb{C}_p with $|p|_p = p^{-\nu_p(p)} = \frac{1}{p}$.

In this paper, we assume that $q \in \mathbb{C}_p$ with $|1 - q|_p < p^{-\frac{1}{p-1}}$. So that $q^x = \exp(x \log q)$ for $x \in \mathbb{Z}_p$. The q -number of x is denoted by $[x]_q = \frac{1-q^x}{1-q}$. Note that $\lim_{q \rightarrow 1} [x]_q = x$. Let d be a fixed integer bigger than 0 and let p be a fixed prime number. We set

$$X_d = \varprojlim_{\mathbb{N}} \mathbb{Z}/dp^N \mathbb{Z}, \quad X^* = \bigcup_{\substack{0 < a < dp \\ (a,p)=1}} (a + dp\mathbb{Z}_p),$$
$$a + dp^N \mathbb{Z}_p = \{x \in X \mid x \equiv a \pmod{dp^N}\},$$

where $a \in \mathbb{Z}$ lies in $0 \leq a < dp^N$, (see [1-12]).

* Corresponding Author.

Received September 23, 2013; revised January 2, 2014; accepted January 29, 2014.

2010 Mathematics Subject Classification: 11B68, 11S40, 11S80.

Key words and phrases: q -Euler polynomials, modified q -Euler polynomials, fermionic q -integral on \mathbb{Z}_p .

Let $C(\mathbb{Z}_p)$ be the space of continuous functions on \mathbb{Z}_p . For $f \in C(\mathbb{Z}_p)$, the *fermionic p -adic q -integral* on \mathbb{Z}_p is defined by Kim by

$$(1.1) \quad I_{-q}(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N-1} f(x)(-q)^x, \quad (\text{see [8, 9]}).$$

As is well known definition, the *Euler polynomials* are defined by the generating function to be

$$(1.2) \quad \frac{2}{e^t + 1} e^{xt} = e^{E(x)t} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!},$$

with the usual convention about replacing $E^n(x)$ by $E_n(x)$ (see [1-11]). In the special case, $x = 0$, $E_n(0) = E_n$ are called the *n -th Euler numbers*.

Recently, the *q -Euler numbers with weight α* are defined by

$$\tilde{E}_{0,q}^{(\alpha)} = 1, \quad \text{and } q(q^\alpha \tilde{E}_q^{(\alpha)} + 1)^n + \tilde{E}_{n,q}^{(\alpha)} = 0 \text{ if } n > 0,$$

with the usual convention about replacing $(\tilde{E}_q^{(\alpha)})^n$ by $\tilde{E}_{n,q}^{(\alpha)}$ (see [11]). And in [12], authors defined the modified q -Bernoulli polynomials $\tilde{\beta}_{n,q}(x)$ by generating function, and represent $\tilde{\beta}_{n,q}(x)$ as a p -adic q -integral on \mathbb{Z}_p .

The purpose of this paper is to construct new q -extension of Euler numbers and polynomials with weight 0 related to fermionic p -adic q -integral on \mathbb{Z}_p , and give new explicit formulas related to these numbers and polynomials.

2. A New Approach of q -Euler Polynomials with Weak Weight 0

The *q -Euler number with weak weight 0* is defined by

$$(2.1) \quad \epsilon_{n,q} = \int_{\mathbb{Z}_p} [y]_q^n d\mu_{-1}(y).$$

Thus, we defined the *modified q -Euler polynomial with weak weight 0* as follows:

$$(2.2) \quad \begin{aligned} \tilde{\epsilon}_{n,q}(x) &= \int_{\mathbb{Z}_p} (x + [y]_q)^n d\mu_{-1}(y) \\ &= \sum_{l=0}^n \binom{n}{l} \epsilon_{l,q} x^{n-l} \\ &= (E_q + x)^n. \end{aligned}$$

By (1.1) and (2.1), we know that

$$(2.3) \quad \epsilon_{n,q} = \frac{2}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{1}{1+q^l}.$$

Thus,

$$(2.4) \quad \begin{aligned} \tilde{\epsilon}_{n,q}(x) &= \sum_{l=0}^n \binom{n}{l} \epsilon_{l,q} x^{n-l} \\ &= \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \binom{l}{m} \frac{2}{(1-q)^l} (-1)^m \frac{1}{1+q^m} x^{n-l}. \end{aligned}$$

Thus the following theorem is proved.

Theorem 2.1. For positive integer n ,

$$\tilde{\epsilon}_{n,q}(x) = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \binom{l}{m} \frac{2}{(1-q)^l} (-1)^m \frac{1}{1+q^m} x^{n-l}.$$

Consider the following equation.

$$(2.5) \quad \begin{aligned} \sum_{n=0}^{\infty} (q-1)^n \epsilon_{n,q} \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{n}{m} (-1)^{m+n} \frac{2}{1+q^m} \frac{t^n}{n!} \\ &= \left(\sum_{l=0}^{\infty} \frac{(-1)^l t^l}{l!} \right) \left(\sum_{m=0}^{\infty} \frac{2}{1+q^m} \frac{t^m}{m!} \right) \\ &= e^{-t} \sum_{m=0}^{\infty} \frac{2}{1+q^m} \frac{t^m}{m!}. \end{aligned}$$

By (2.3),

$$(2.6) \quad \begin{aligned} e^{(q-1)xt} \sum_{n=0}^{\infty} (q-1)^n \epsilon_{n,q} \frac{t^n}{n!} &= \left(\sum_{l=0}^{\infty} (q-1)^l x^l \frac{t^l}{l!} \right) \left(\sum_{n=0}^{\infty} (q-1)^n \epsilon_{n,q} \frac{t^n}{n!} \right) \\ &= \sum_{m=0}^{\infty} (q-1)^m \sum_{n=0}^m \binom{m}{n} \epsilon_{n,q} x^{m-n} \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} (q-1)^m \tilde{\epsilon}_{m,q}(x) \frac{t^m}{m!}. \end{aligned}$$

And

$$(2.7) \quad \begin{aligned} e^{(q-1)xt} \left(e^{-t} \sum_{m=0}^{\infty} \frac{2}{1+q^m} \frac{t^m}{m!} \right) &= e^{((q-1)x-1)t} \sum_{m=0}^{\infty} \frac{2}{1+q^m} \frac{t^m}{m!} \\ &= \left(\sum_{l=0}^{\infty} \frac{((q-1)x-1)^l}{l!} t^l \right) \left(\sum_{m=0}^{\infty} \frac{2}{1+q^m} \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \sum_{m=0}^n ((q-1)x-1)^{n-m} \binom{n}{m} \frac{2}{1+q^m} \frac{t^n}{n!}. \end{aligned}$$

By (2.5), (2.6) and (2.7), we obtain the following equation.

$$(q-1)^m \tilde{\epsilon}_{m,q}(x) = \sum_{n=0}^m \binom{m}{n} ((q-1)x-1)^{m-n} \frac{2}{1+q^n}.$$

Therefore, we obtain the following theorem.

Theorem 2.2. For positive integer m ,

$$\begin{aligned} \tilde{\epsilon}_{m,q}(x) &= \frac{1}{(q-1)^m} \sum_{n=0}^m \binom{m}{n} ((q-1)x-1)^{m-n} \frac{2}{1+q^n} \\ &= \sum_{n=0}^m \sum_{j=0}^{m-n} \binom{m}{n} \binom{m-n}{j} (-1)^{m-n-j} (q-1)^{j-m} \frac{2}{1+q^n} x^j. \end{aligned}$$

3. Multiple Modified q -Euler Numbers with Weak Weight 0

The multiple q -Euler number with weak weight 0 is defined by

$$(3.1) \quad \epsilon_{n,q}^{(k)} = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} [x_1 + \cdots + x_k]_q^n d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_k).$$

By (1.1) and (3.1),

$$\begin{aligned} (3.2) \quad \epsilon_{n,q}^{(k)} &= \lim_{N_1 \rightarrow \infty} \cdots \lim_{N_k \rightarrow \infty} \frac{1}{[p^{N_1}]_{-1}} \cdots \frac{1}{[p^{N_k}]_{-1}} \\ &\quad \sum_{j_1=0}^{p^{N_1}-1} \cdots \sum_{j_k=0}^{p^{N_k}-1} [j_1 + \cdots + j_k]_q^n (-1)^{j_1} \cdots (-1)^{j_k} \\ &= \lim_{N_1 \rightarrow \infty} \cdots \lim_{N_k \rightarrow \infty} \sum_{j_1=0}^{p^{N_1}-1} \cdots \sum_{j_k=0}^{p^{N_k}-1} \left(\frac{1 - q^{j_1 + \cdots + j_k}}{1 - q} \right)^n (-1)^{j_1} \cdots (-1)^{j_k} \\ &= \lim_{N_1 \rightarrow \infty} \cdots \lim_{N_k \rightarrow \infty} \sum_{j_1=0}^{p^{N_1}-1} \cdots \sum_{j_k=0}^{p^{N_k}-1} \frac{1}{(1-q)^n} \\ &\quad \sum_{l=0}^n \binom{n}{l} (-1)^l (q^{j_1 + \cdots + j_k})^l (-1)^{j_1} \cdots (-1)^{j_k} \end{aligned}$$

$$\begin{aligned}
 &= \lim_{N_1 \rightarrow \infty} \cdots \lim_{N_{k-1} \rightarrow \infty} \sum_{j_1=0}^{p^{N_1-1}} \cdots \sum_{j_{k-1}=0}^{p^{N_{k-1}-1}} \frac{1}{(1-q)^n} \\
 &\quad \times \sum_{l=0}^n \binom{n}{l} (-1)^l q^{(j_1+\cdots+j_{k-1})l} (-1)^{j_1+\cdots+j_{k-1}} \lim_{N_k \rightarrow \infty} \sum_{j_k=0}^{p^{N_k-1}} (-q^l)^{j_k} \\
 &= \lim_{N_1 \rightarrow \infty} \cdots \lim_{N_{k-1} \rightarrow \infty} \sum_{j_1=0}^{p^{N_1-1}} \cdots \sum_{j_{k-1}=0}^{p^{N_{k-1}-1}} \frac{1}{(1-q)^n} \\
 &\quad \times \sum_{l=0}^n \binom{n}{l} (-1)^l q^{(j_1+\cdots+j_{k-1})l} (-1)^{j_1+\cdots+j_{k-1}} \frac{2}{1+q^l} \\
 &= \frac{1}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l \left(\frac{2}{1+q^l} \right)^k.
 \end{aligned}$$

Thus, the *multiple modified q -Euler polynomial with weak weight 0* which is defined by

$$(3.3) \quad \tilde{\epsilon}_{n,q}^{(k)}(x) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (x + [x_1 + \cdots + x_k]_q)^n d\mu_{-1}(x_1) \cdots d\mu_{-1}(x_k)$$

is represented by

$$\begin{aligned}
 (3.4) \quad \tilde{\epsilon}_{n,q}^{(k)}(x) &= \sum_{l=0}^n \binom{n}{l} \epsilon_{l,q}^{(k)} x^{n-l} \\
 &= \sum_{l=0}^n \binom{n}{l} \frac{1}{(1-p)^l} \sum_{m=0}^l \binom{l}{m} (-1)^m \left(\frac{2}{1+q^m} \right)^k x^{n-l}.
 \end{aligned}$$

Therefore, by (3.4), we obtain the following theorem.

Theorem 3.1. *For positive integer n, k ,*

$$\tilde{\epsilon}_{n,q}^{(k)}(x) = \sum_{l=0}^n \sum_{m=0}^l \binom{n}{l} \binom{l}{m} \frac{(-1)^m}{(1-p)^l} \left(\frac{2}{1+q^m} \right)^k x^{n-l}.$$

Note that, by (3.2),

$$(3.5) \quad \epsilon_{n,q}^{(k)} = \frac{1}{(p-1)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l \left(\frac{2}{1+p^l} \right)^k.$$

Then

$$(3.6) \quad (p-1)^n \epsilon_{n,q}^{(k)} = \sum_{l=0}^n \binom{n}{l} (-1)^l \left(\frac{2}{1+p^l} \right)^k,$$

and so

$$\begin{aligned}
 (3.7) \quad \sum_{n=0}^{\infty} (q-1)^n \epsilon_{n,q}^{(k)} \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{2}{1+q^l} \frac{k t^n}{n!} \\
 &= \left(\sum_{m=0}^{\infty} \frac{(-1)^m t^m}{m!} \right) \left(\sum_{l=0}^{\infty} \left(\frac{2}{1+q^l} \right)^k \frac{t^l}{l!} \right) \\
 &= e^{-t} \sum_{l=0}^{\infty} \left(\frac{2}{1+q^l} \right)^k \frac{t^l}{l!}.
 \end{aligned}$$

By (3.7),

$$\begin{aligned}
 (3.8) \quad e^{(q-1)xt} \sum_{n=0}^{\infty} (q-1)^n \epsilon_{n,q}^{(k)} \frac{t^n}{n!} &= \left(\sum_{m=0}^{\infty} (q-1)^m x^m \frac{t^m}{m!} \right) \left(\sum_{n=0}^{\infty} (q-1)^n \epsilon_{n,q}^{(k)} \frac{t^n}{n!} \right) \\
 &= \sum_{l=0}^{\infty} (q-1)^l \sum_{n=0}^l \binom{l}{n} \epsilon_{n,q}^{(k)} x^{l-n} \frac{t^l}{l!} \\
 &= \sum_{l=0}^{\infty} (q-1)^l \tilde{\epsilon}_{l,q}(x) \frac{t^l}{l!},
 \end{aligned}$$

and

$$\begin{aligned}
 (3.9) \quad e^{(q-1)xt} \left(e^{-t} \sum_{l=0}^{\infty} \left(\frac{2}{1+q^l} \right)^k \frac{t^l}{l!} \right) &= e^{((q-1)x-1)t} \sum_{l=0}^{\infty} \left(\frac{2}{1+q^l} \right)^k \frac{t^l}{l!} \\
 &= \left(\sum_{m=0}^{\infty} \frac{((q-1)x-1)^m}{m!} t^m \right) \left(\sum_{l=0}^{\infty} \left(\frac{2}{1+q^l} \right)^k \frac{t^l}{l!} \right) \\
 &= \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} ((q-1)x-1)^{n-l} \left(\frac{2}{1+q^l} \right)^k \frac{t^n}{n!}.
 \end{aligned}$$

By (3.7), (3.8) and (3.9), we obtain the following equation.

$$(q-1)^l \tilde{\epsilon}_{l,q}^{(k)}(x) = \sum_{n=0}^l \binom{l}{n} ((q-1)x-1)^{l-n} \left(\frac{2}{1+q^n} \right)^k$$

Therefore, we obtain the following theorem.

Theorem 3.2. For positive integer m ,

$$\begin{aligned}
 \tilde{\epsilon}_{m,q}(x) &= \frac{1}{(q-1)^m} \sum_{n=0}^m \binom{m}{n} ((q-1)x-1)^{m-n} \left(\frac{2}{1+q^n} \right)^k \\
 &= \sum_{n=0}^m \sum_{j=0}^{m-n} \binom{m}{n} \binom{m-n}{j} (-1)^{m-n-j} (q-1)^{j-m} \left(\frac{2}{1+q^n} \right)^k x^j.
 \end{aligned}$$

References

- [1] A. Bayad and T. Kim, *Identities involving values of Bernstein, q -Bernoulli, and q -Euler polynomials*, Russ. J. Math. Phys., **18(2)**(2011), 133-143.
- [2] L. Carlitz, *q -Bernoulli and Eulerian numbers*, Trans. Amer. Math. Soc., **76**(1954), 332-350.
- [3] D. Ding and J. Yang, *Some identities related to the Apostol-Euler and Apostol-Bernoulli polynomials*, Adv. Stud. Contemp. Math., **20(1)**(2010), 7-21.
- [4] K. W. Hwang, D. V. Dolgy, T. Kim and S. H. Lee, *A note on (h, q) -Genocchi polynomials and numbers of higher order*, Adv. Diff. Equ., **2010**(2010), Art. ID 309480, 6 pp.
- [5] T. Kim, *New approach to q -Euler polynomials of higher order*, Russ. J. Math. Phys., **17(2)**(2010), 218-225.
- [6] T. Kim, *q -Euler numbers and polynomials associated with p -adic q -integrals*, J. Non-linear Math. Phys., **14(1)**(2007), 15-27.
- [7] T. Kim, *Barnes-type multiple q -zeta functions and q -Euler polynomials*, J. Phys. A, **43**(2010), no. 25, 255201, 11 pp.
- [8] T. Kim, *On q -analogue of the p -adic log gamma functions and related integral*, J. Number Theory, **76(2)**(1999), 320-329.
- [9] T. Kim, *q -Volkenborn integration*, Russ. J. Math. Phys., **9(3)**(2002), 288-299.
- [10] T. Kim, *Identities involving Frobenius-Euler polynomials arising from non-linear differential equations*, J. Number Theory, **132(12)**(2012), 2854-2865.
- [11] T. Kim, B. Lee, J. Choi, Y. H. Kim and S. H. Rim, *On the q -Euler numbers and weighted q -Bernstein polynomials*, Adv. Stud. Contemp. Math., **21**(2011), 13-18.
- [12] J. Seo, T. Kim and S. H. Rim, *A note on the new approach to q -Bernoulli polynomials*, Appl. Math. Sci., **7(94)**(2013), 4675-4680.